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g_bpm1X RMS (ppm)

corr_us_av

o
N~
—

160
15

(wdd) sy

L1
o o

14

130

______________
(@] o o
N — o
— — —

__n_U____n_le_.

]

[o0]

V'v8SYy
€'v8Sy
¢'v8sy
T'v8SYy
0'¥8SYy
'€8SY
£'e8SY
2'e8SYy
T'e8sy
0'€8SYy
2'e8sy
T'essy
0'¢8sYy
7’185y
€185y
2’185y
11857
0'18SY
¥'08SY
€085y
2’085y
T'08SY
0085y
V'6LSY
€'6.SY
2'6.SY
T'6.SY
0'6.SY
'8LSY
€8Sy
2'8LSY
Re7Ac14
0'8.Sy
V'LLSY
[WNAS| 4
¢'LLSY
TLLSY
(WS4
2’95y
T'9.SY
0'9.Gy
¢'SLSY
T'S.SY
0'9.Sy
€¢LSY
2elLsy
T'elSy
0'¢LSy
C'TLSY
TT.SY
0'TLSY



460060.72
§ g ¢ 3 & 8
b5 T 3 8
° 9 8 o o o
.:ﬂ S @ M4 -
g o g g ]
s 38 < = ]
S o ¢ ° i
? -
: & 3 5 G .
c|l§ ¢ & §8 £ z § ¢& ]
S £
|l & 5 & %« 8 2 @&
=}
=
2 a
2 _ 7
= 7]
2 g — =
ho) -
= .
2 —
)
L | -
M R | | | IR BT
B o N = L, « o ] <t &N O
- £
I
o
0 N~
~ A
25
™ Y
o
N~
I
“—
©
c
~ O
)2
Qls< O
pVA
=1
N
VI
=
o
=)
o

corr_us_av




g_bpmlY RMS (ppm)
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corr_us_dd_bpm1X (ppb) 1D pull distribution
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corr_usr_bpmd4eX (ppb) 1D pull distribution
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